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Занятие № 6
Тема: Электродвигатели
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2. Прочитайтетекст, выпишите незнакомые слова и запишите аудиофайл с чтением и переводом текста.
Electric Motors 
1. Electric motors are the most convenient means of obtaining mechanical power. They may be classified as either DC or AC machines. All electric motors, used in agricultural operations are of the AC type. The practical use of the AC electric motors requires that they should be constructed of single-phase and polyphase types. The two main types of motors classified as to principle of operation are synchronous and induction motors. 
2. Electric motors can operate in a wide range of temperatures (the lower temperature, the better the operation). The induction motors are simple and reliable. It is natural that they should be almost exclusively used in agricultural operations. An induction motor depends on induced currents for its operations. 
3. A.C. motors are quiet, safe, and efficient in operation, and very convenient to control, and are therefore an ideal type of power device. An operator can start or stop a unit of several thousand h. p. by merely pressing a button of an automatic remote controller such as is used with many large A.C. motors. 
Electric motors when properly selected and installed serve many years and require only periodic care. 
There are many different sizes of electric motors. Why are these different sizes needed or, in other words, what is the difference about the various loads that causes one to select one size of motor for this application and another for a different application? The answer is obtained by examining the characteristics of the various loads.
4. Engineers found that the synchronous speed of an induction motor would depend on the frequency of the applied voltage and the number of poles. N=(t*120)/P where N-speed (rpm); t- frequency (cycles per second); p-number of poles. 
5. The actual speed of an induction motor is from one to ten percent below synchronous speed. This difference of speeds is known as slip. If you take a motor with a synchronous speed of 1800 rpm and a 4 % slip, it would have an actual speed of 1728 rpm. Slip increases as a motor becomes more heavily loaded. 
Запишите в словарь:словарныйминимум
regard рассматривать, считать 
induction индукция 
inductionmotor асинхронный двигатель 
reliable надежный 
depend зависеть 
inducedcurrent индуцированный ток 
rotate вращаться 
flux поток 
pole полюс 
slip скольжение 
rpmоборотоввсекунду
(revolution per second) 
rotation вращение 
frequency частота, повторяемость 
cut отключать, отсоединять 
uniform равномерный, единообразный 
Упражнения 
1. Выберите из пункта “b” русские эквиваленты к словам и сочетаниям пункта “а”. 
а) polyphase motor, induction motor, the number of poles, difference of speeds, a turning moment, motor slip, to depend on induced current, require, to apply voltage. 
b) число полюсов, разница скоростей, многофазовый двигатель, асинхронный двигатель, скольжение двигателя, подавать напряжение, вращающий момент, требовать, зависеть от индуцированного тока.
2. Определите по суффиксам, к какой части речи относятся следующие слова и переведите их: 
classification, movement, lowest, classify, movable, central, induction, reliable, operation, widely, practical, requirement, magnetic, rotation, exclusively, actually, revolution, practical, natural, measurement. 
3. Укажите в тексте предложения, в которых употреблены эквиваленты следующих русских слов и словосочетаний: 
по принципу действия, средство получения, чем ниже температура, магнитное поле, вращающий момент, число полюсов, фактическая скорость. 
4. Переведите следующие предложения на русский язык, обращая внимание на инфинитивные конструкции “сложное подлежащее” и “сложное дополнение”. 
1. The most important characteristic of an electric measuring instrument is known to be its accuracy. 
2. We know faulty insulation to be dangerous. 
3. The year of 1895 is considered to be the date of the invention of the radio. 
4. He is said to work under very hard conditions. 
5. They expect this new electric equipment to be used in their laboratory. 
6. Do you find aluminium to be a good conductor? 
7. A large number of substances are known to be neither good conductors of electricity nor good insulators. 
8. We know the synchronous speed of an induction motor to depend on the frequency of the applied voltage and the number of poles. 
9. This young man is sure to be interested in electronics. 

5. Закончите предложения, соединив соответствующие части: 
1. Copper is known.....:
a).... that it is a good conductor; 
b).... to be a good conductor. 
2. Electricity is considered....:
a)... to be a cheap form of energy; 
b).... that it is a cheap form of energy. 
3. The scientific conference is reported.....:
a)... that it will be held in Apri1; 
b)... to be held in April. 50 
4. This problem is thought....:
a).... to be solved next decade; 
b).... that it will be solved next decade. 
6. Переведите: 
1. Сообщают, что группа специалистов приедет на следующей неделе. 
2. Известно, что эти металлы являются хорошими проводниками. 
3. Он, говорят, учится на нашем факультете. 
4. Этот завод, как было известно, производит электронную аппаратуру. 
7. Дополните предложения в соответствии с содержанием текста: 
1. The electric motor should be regarded as........
2. The practical use of the AC electric motors requires that......
3. An induction motor depends on......
4. The synchronous speed of an induction motor depends on......
5. The actual speed of an induction motor is........
6. Slipincreasesas...... 
Все ответы прислать до 14.10 в https://vk.com/id92469994
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